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02781 
BACHELOR OF SCIENCE (B.Sc.) 

Term-End Examination 

June, 2014 

CHEMISTRY 

CHE-05 : ORGANIC CHEMISTRY 

Time : 2 hours 	 Maximum Marks : 50 

Note : Attempt all the four questions. 

1. (a) Write the IUPAC name of any two of the 
following : 	 1x2 

(i) 	H2N - CH2CH2OH 

CH3CH2C I 
11 
0 

(iii) CH3 - CH2 OCH3  

 

F 
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(b) Assign R or S configuration to any one of the 
following giving order of priorities of groups 
attached to the chiral centre : 1 

F 

(i) Br 

  

Cl 

  

    

(ii) HO 

 

CHO 

	H 

CH2OH 

 

(c) Assign E or Z configuration to any one of the 
following giving order of priorities of groups 
attached to the double bond : 

Br,„ 
(i) ,C = 

Cl" 
C, 

 CH 

CH3 	CHOH 
(ii) N7C = 	2  

H' 	CH3  

(d) Write the structure of 5-pentanolide. 
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2. Attempt any five of the following : 	 2x5 

(a) Define the following : 

(i) Iodine value 

(ii) Racemic mixture 

(b) Which one of CH2  = CH — Cl and CH3CH2C1 
would undergo faster SN2 displacement 

reaction when boiled with aqueous NaOH 
solution ? Justify. 

(c) What is Hell-Volhard-Zelinsky reaction ? 
What is its synthetic use ? 

(d) How can propene be converted into the 
following : 

(i) 1-propanol 

(ii) 2-propanol 

(e) Define Saponification value of fats and oils. 
Give its significance. 

(f) Arrange the following in decreasing order of 
basic strength and justify giving reason : 

ethylamine, pyrrole, pyridine 

(g) How do you convert the following ? 

(i) 	Benzene 	hexachlorocyclohexane 
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3. Attempt any five parts from the following : 	3x5 

(a) Which of the following compounds would be 
aromatic ? Justify. 

H H 

(iii) 

(b) Draw the boat and chair conformations of 
cyclohexane. Which of the two conformations 
would be more stable ? 

(c) How can you convert nitrobenzene into 
chlorobenzene ? Name the different steps 
involved in the conversion. 

(d) What happens when pentane-di-oic acid, 
hexane-di-oic acid and heptane-di-oic acid 
are heated with ethanoic anhydride and the 
product is distilled at 573 K ? Give the 
products obtained. 

(e) How can you prepare a primary, secondary 
and tertiary alcohol starting from methyl 
magnesium bromide ? 

(f) Define the following : 

(i) Transcription 
(ii) Translation 
(iii) Replication 

(g) State three important differences between 
DNA and RNA. 
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4. Attempt any five parts from the following : 	4x5 

(a) How can we prepare phenolphthalein 
starting from phenol ? Show by chemical 
reactions the changes in colour of 
phenolphthalein on addition of aq. NaOH in 
small quantity and in excess. 

(b) Fill in the blanks : 

(i) The peak in the mass spectrum 
representing the most abundant fragment 
ion is called 	 peak. 

(ii) N,N-dimethyl-ortho-toluidine is more basic 
than N,N-dimethyl-aniline can be explained 
by 	effect. 

(iii) The higher solubility in water and higher 
melting point of p-nitrophenol compared to 
o-nitrophenol can be explained on the basis 
of  	bonding. 

(iv) The quality of diesel fuel is expressed in 
terms of 	number. 

(c) How can you distinguish propanal and 
propanone using IR and NMR spectra ? 

(d) Give chemical equations for the following 
reactions : 

(i) Rosenmund reduction 

(ii) Wittig reaction 

(iii) Aldol condensation 

(iv) Carbylamine reaction 
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(e) Draw the structure of a-D-glucopyranose 
and explain why it undergoes mutarotation. 

(f) Give the preparation and uses of the 
following : 
(i) Crown ether 
(ii) Iodoform 

(g) Explain Edman degradation used in 'End 
group analysis.' 
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141.Rw.t.-o5 

X11.1 ti ncp1.  (*.TT 141.) 

Trwia.  

v, 2014 

tti 1<4144111  

: tbi ch mrzfq 

OAK : 2 E/u" 	 arft-dx?" 3TW : 50 

*: Fr43 wrr 37PY 3rd eact / 

1. ("W) 	ciRsio 	Al 14p-1 	 R-rgr 

iMtrR : 	 1x2 

(i) 	H2N - CH2CH2OH 

CH3CH2C - I 

0 

(iii) CH3  - CH2  OCH3  

 

F 
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NO PHIZIRgd 4 4 ch 	-F1*-1'F .1 4 
-EPtt 	3110T 	t4 	R aTardT S 

aTRA—zurAtTift-ff 04R : 1 

F 

(i) Br 

  

Cl 

  

    

I 

(ii) HO 

 

CHO 

	H 

CH2OH 

 

(TT) PH 	(1 l 	f*-kft kw Tr it-3 1-ku 7 
"MO 	3TOT W:f c T E /TT Z 33-NTWAITF 

AtTtftff AtrA : 

Br.„ 
(i) ,C=C 

	

 
C1' 	'CH3 

1 

CH /CH2OH (ii) Nc  = c  

N  CH 3  

(14) 5- 	cils*"1 .4-01-11 'PAR I 
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2. 14.1 	oRga *1*-41 InV 74-41 zffK tf*: 	2x5 
(*)  	TritgrErr tr-A-R : 

() aTrzhtlq 
(ii) *rfirw *Nur 

(75-) Arnti NaOH f4ezT4 	TINT dellcl 

CH2  = CH — Cl 	CH3CH2C1, 	aTfilw 

	

oat sN2 3TWATER affieort 	 ? aTEA 

39K *1 It *tl* 

(Tr) te-x0-04-1;41 3lf41rr Azrr 	 ? 	 
tic.qui wrr 	 ? 

(q) aTrq  	PHICiRga 	14AI 	cnit 
ct. 	: 

(i) 1-3*-te 

(ii) 2-304M 

() SIT 3 ;c1.1 * kii341cbtui R t trftwiT 
tf147 I 	tict)i 1 aial 

A1-1 i cl   artZrdi   WIT 14 
Mr4Pia. -a* a* 3374 zwt *r cmtui 
Gicw : 

	 fir4a, 1 1k 

() aTPT 	 .t.ti whit viical q;1;) ? 

(i) 
	

It-114c1 t11§4c1 
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3. -14-i (go%Tel-  eV uq-1.  * •37R trIA7 
	

3x5 

() f4RPArd 14    ? 

	 acil*L  
H H 

(iii) 

kii*et.(44. -1* IA 4 -1 chl l4;1,4:1;1 	 cHIV 

)1.1 cbsi.-4;14*-11 -44 	4i -TIT aTfiT-  waft 

	• ? 

(TT) am -11* 	q\-1144-1 	1 	bk1 31 iR 
4Rago 	 ? 	trft4-49.  
O -Pew 

(•4) 7-4 4-4q-Z7-3-1 
311=F 

* TIM 	ct) W 7114 dc-mic 	573 K W 

3TR,Aff tai    ?3171 	 

jrAiR 

-1)12TF 	 'Ogfrg alTEF 3TNTRT, 	r- 
3 t 

 

kt;16.o rnti emit 3rwr 	tict, 

#? 

(4.) PHICIRgi 	trfoTrErt tr-A7 : 

(i) arcaw 
(ii) - ;t1T4idTur 

(iii) -srPd-t-R 

(.u) t.74:R. 3 	31-R.7q.. 	4t4 tt1 ai-dT 

A-dR 

CHE-05 	 10 



(;) 

NO 

4. PH 	4 4 	4 rew 	trA7 : 	4x5 

t-41-e 4 3T1 (4)4 it 	 (iTo 
WIT 611 ? 7-4 trifatm14rt 4 41 c'nel NaOH 

Trffr 4 AK aTlir* Taw 4 firom 7r-dr 
t9-uca41q 1* 4 trfk-444 
titileAct) aTIVOITI.PAR 
ftw T2TRI 	iTrtR : 
(i) 	 4,to 4 Tr-44 aifirw "WTI 1.4 

aTRF* Pligt 	ftRiR ct) 
N ,N-silAN4o-37TP-ITZY04 

N,N-si§ARm-r4dlq 4 aTfirw Aitzit I 
	  "SINT4 

TtT 	TI timcfll I 

goil 
*'t TrT 4 aTfiTw -kazraT 

3T .i~ltit 11ZPlich*r 0041(9041 	 

	

374tri* 3TriTR 4t tich 	t 
(iv) trTe 	tr ‘7F4M 	 

Ta> eqrn *r ticncn 

3nq 3444-a-  atT 3449Y4 4 argm 
P4ni:4 	311%17 1:1K 1->ti whit ak 
	 ? 

PHICIRgd 	 f#R 	 
crKui foRiER : 

(1) k-piug 3TqwzR-
(in feerr 3TRifo1r 
(iii) c.-sic(i 
(iv) ch1140441.1 aliirWrr 
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	 t't tio4-11 -49T-47 AK 0041(sen 

W4R 	trit-Of gatrr 	3F<Di-d 4101 

t I 

PIHRIRVI 	ts1.-A feti 3 311141T -PAR : 

(i) 5h1,3•1 tag 

(ii) 3Tiftta4 

(U) 43iM 	 rclqellue 4 3rAjT Ttit4 Pi-fichtui 

oelltSelltrr7R 
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